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HHI=(x-8)+(x-7)+(x-6)+x+(x- D+(X+1D+(x+6)+(x+7)+(x+8)=9x
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[(17x% =3x+4)—(ax* +bx +¢)] = (5x+6)2x+1) =10x* +17x +6
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FH=3+5+4=7++/5~9.23

Z=143+2/5=4+25~8.46

AN=2+5+3=10

T=3+42+4/17 ~8.53

A>H>T>7 » B -

( C NR0AE=EAFEEE > EREMHETHVSERIE 5070 > 55 E = ([HEEm A

2%/ (A)61 (B)6T (C)71 (D)73

<fEHT>

ARy 5070 ‘B fHE - HUE = (&8 8+ - oA —EHEE 2 - SR =& 8 TR AEr
8 o

SIE={EEE R 2 p > q H p*+4¢* =5070-2% = 5066

BREMr 8 br T 5 DAYMNNRTE B A AE EEDE 1 2k 9 - S E=E R

M2 (B Ry 6 HA—EAEE » Hp—(EE %02 5 H% p=5" H¢° =5066-5" =5041 »

Al g=71 » E =B RAYE 71 » BEC -

1 1 1

( AL (+=+... +L)(l+l+—+....+—)—(l+l+l+ ...... +L)(l+l+....+—):?
2 3 2020 2 3 2019 2 3 2020° 2 3 2019
1 1 4039 1
A) — B) —— (C D) -
(&) 2020 (B) 2020 © 4080400 ) 4080400
<fEHT>
N 1 1 N 1 1
LM =—+—+..+ » AR =M + x(1+ M) —(1+M + M
M= b gt oorg | IRA=M 25 9x 1+ M)=( 2020
MM e M e e M ey
2020 2020 2020 2020

(A )22.Choose a number from 1 to 9, times (3f€)the number by 3 and plus 3. After that we
times the result by 3 again and gives you another number. What 1s the sum of the
digit in tens place(-{i78%) and the digit in ones place({EA7E5)?

(A)9 (B)12 (O)15 (D) unsure
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£ 1~0 st — (A8 > IEEEETIRL 3 > L 31& > 3L 3 > B2 —HET
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4 PSR T B x D (3x+3) X 3=9x+9—>9 {58
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(B )23.Right graph is made by 8 identical (fH[E]#Y)squares, what is ZABC?
(A)120° (B)135° (C)150° (D) 165° _3
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B
T2 2 42 g 52 212 gD
OAD =2°+1=5=BD * AB =3"+1=10 T
AD +BD =10=AB’ .. £ADB=90° AR T —c
Y AD=BD .../DAB-=/DBA = 45°

@a+b=90° .". ZABC=90°+45°=135° » #5E B o
(A )24. There are nine cards are labelled (Z=3E)from 1-9. Joe, Bill, and Cathy take three
cards each.
Joe said:  “The product of my cards is 48.”
Bill said: “The sum of my cards is 15.”
Cathy said “All my cards are odd numbers(Z7#%), the difference(Z£) between the
largest number and the smallest number arranged by three cards in different order 1s
792.” Which is correct?
(A)Joe has the cards with 2,3,8 labelled. (B)Joe has the cards with 2,4,6 labelled.
(C)Bill has the cards with 3,5,7 labelled. (D)BAill has the cards with 3,4,8 labelled.
<HHEEE>
BHA1-2-3-4-5-6~7~8~9HYJUIR > Joe ~ Bill ~ Cathy £5= 3 5RhE:
Joe &ft: T IRHY 3 SRR TR Ay 48 | 5
Bill &5 T 3R 3 SRR ZFIE 155
Cathy &t: " FREY 3 SRREED T E > BERGR AR = Bl s N=r s =5 792 45
MR ERE? (A) Joe HUAE 2 ~ 3~ 8 (B) Joe HZE 2 ~ 4 ~ 6(C) Bill BizE 3 ~ 5 ~ 7(D) Bill
HE3~4-~8
<fEAT>
Joe 48=2X3XE=2)X4X6
Cathy HUERI5REAEZ 8 > Bl 1 f19
WA 1~3~5~7~94L5{F > Bill =5&F115 > VA 1 5REH > Cathy A 3 REH
cJoe B 1 EEE Bl Joe &2~ 38
Bill ) 4-~5~6 »Cathy; &1 ~7~9 >3 A-

( C )25. As the graph shown, there are right angle line segments (B FaHT4RE%)formed by
three straight line inside a square, the length of three straight line is 5,6 and 9. Find
the shaded area. (A)45 (B)50 (C)55 (D)60
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AR Bl BV R = (A)4S (B)S0 (€)55 (D)60
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EpmER (15 +5)+2=125 , guumpn 5 3 3
12 WER 5y » FrbABEsZ 80 oy AR M N
125+242x6+2-3x9+2=55 by N 5
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AB=+5>+5>+5> =53

4 B4R E=10x 543 + 2% 25 = 504/3 + 50

7 R4 = 6(504/3 +50) = 3004/3 +300 = 3x1.732 + 300 = 819.6cm = 8.196m
BT 8.196 AR
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